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Land Surveying 
Conversion Factors 

 
Class multiply: by: to get: 

Area acre 4046.8726 m
2
 

 acre 0.40469 ha 

10000 m
2
 

Length ft 12/39.37* m 

* Exact, by definition of the U.S. Survey foot 
__________________________________________

____ 

Steel Tape 
Temperature Corrections 

 

( )C T LC m= ⋅ −−1166 10 206.  
or 

( )C T LF f= ⋅ −−6 10 686.45  
Where: 

 
C = Correction 
TC = Temperature in degrees Celsius 
LM = Length in meters 
TF = Temperature in degrees Fahrenheit 
Lf = Length in feet 
__________________________________________

____ 

Temperature Conversion 
Fahrenheit to Celsius ( )5

9
32° −F  

Celsius to Fahrenheit 
9
5

32°



 +C  

__________________________________________
____ 
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